Name

ORDER OF OPERATIONS .

OF:43
Example 1: (15+1% x(—%>+% Example 2: (2.9-1.8)°x 1.2 +3.08
_ 2
=9Xi+l =1.1"%x1.2+3.08
9 2
, =1.21x1.2+3.08
=4t — 1452 +3.08
15 0 71 _
=3 or72 4.532
Solve each expression.
12\ (1,3 2. (9g_
1) <2x2>.<4+2> ) 75+ (28— 3.8)
2
2 _ 3 2_2
3) 85x(1.6°+39—18) 4) (4>><(19 3>
5) 324 (5Vx(2_1) 6) (1.6—1.4)x9.43 = 4.1
3 3 5 5
. Ly 1,5.10\, 1 1
7) 17°4121x (2559 — 1825 8) (5><32.18>+10 L
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Name

ORDER OF OPERATIONS .

Answer key

OF:43
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Example 1: (15+1 X (—%) +%
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Example 2: (2.9-1.8)°x 1.2 +3.08

=1.1%%x1.2+3.08
=1.21x%x1.2+3.08

=4+ — 1452 +3.08
15 1 _
=3 or72 4,532
Solve each expression.
12\ . (1.3 2. _
. <2x2>.<4+2> ) 752+ (2.8-38)
11 ~56.25
7
2
2 _ 3 2_2
3) 85x(1.62+39—1.8) 4) (4>><(19 3>
S5
39.61 3
5) 32, (5Y (2 _ 1Y 6) (1.6—14)2%x943 =41
37(3)°\5 75
7
7 .092
32 0.09
; Lo 1,5 .10\, 1 _1
7) 17°4121x (2559 — 1825 8) (5><32.18>+10 L
1
12.127 -
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